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QUESTION 1

Built into the IBM Watson Discovery service is the Watson Discovery News data set. How is this collection different from
other collections?

A. The Watson Discovery News configuration and documents cannot be adjusted

B. Documents from the Watson Discovery News collection can be ingested as sample documents to better configure a
private collection

C. The Watson Discovery News collection is specific to the company news domain, whereas a collection is specific to a
domain.

D. The Watson Discovery News data set and a private collection can be queried with a single query call

Correct Answer: B

QUESTION 2

Which IBM Watson Al service on IBM Cloud can help build a system that can understand the intent of incoming
guestions and route them to an appropriate subject matter expert.

A. Discovery

B. Natural Language Classifier

C. Natural Language Understanding
D. Speech to Text

Correct Answer: C

QUESTION 3

In the sentence below, which word or phrase is an example of a generic mention class?

"Severs storms in this area usually occurs in late winter, but Tropical Storm Helga was an abnormally”
A. Tropical Storm Helga

B. late winter

C. Helga

D. storms

Correct Answer: D

Reference: https://console.bluemix.net/docs/services/watson-knowledge-studio/ typesystem.html#typesystem
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QUESTION 4

What license is the IBM Watson SDK licensed under?
A. BSD License

B. Apache 2.0 License

C. GNU General Public License

D. IBM Public License

Correct Answer: B

Reference: http://watson-developer-cloud.github.io/java-sdk/docs/java-sdk-2.8.0/com/ibm/watson/
developer_cloud/tone_analyzer/v3/package-summary.html

QUESTION 5

Before a developer can work with any of the IBM Cloud services, they need to obtain service credentials. What is the
proper procedure to do this in IBM Cloud?

A. Log-in to IBM Cloud, navigate to your account profile, then copy the account credentials into the application for
service access.

B. Log-in to IBM Cloud, navigate to your account, and view your user credentials.
C. The IBM Cloud credentials are the same as your service credentials.

D. Create a service instance within IBM Cloud, create the service credentials, use the service credentials in the
application.

Correct Answer: A
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